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A prerequisite for the successful conduct of monetary policy is a satisfactory 

understanding of the monetary transmission mechanism – the ensemble of 

economic forces that link the monetary policy instrument to the aggregate 

performance of the economy. 

by Greg Kaplan, Benjamin Moll and Giovanni L. Violante (2018)

– The primary policy instrument was the short-term nominal interest rate .

– The longer-term nominal interest rate is increasingly becoming the major instrument.

How does the change in nominal interest rate propagate through aggregate economy? 



Key ingredients 

1. Price stickiness (NKPC)

2. Consumption-saving decision (IS curve)

3. Monetary policy rule (MP)



Calvo (1983): setting



Calvo (1983): optimal pricing



Calvo (1983): markup over marginal cost

The firm desires to set its price as a constant markup over marginal cost:

𝒑𝒕
∗ = 𝝁 +𝒎𝒄𝒕

From the optimal solution,

𝒛𝒕 = 𝟏 − 𝜽𝜷 σ𝒌=𝟎
∞ 𝜽𝜷 𝒌𝑬𝒕 𝝁 +𝒎𝒄𝒕+𝒌

= 𝟏 − 𝜽𝜷 𝝁 +𝒎𝒄𝒕 + 𝟏 − 𝜽𝜷 𝜽𝜷 𝑬𝒕 𝝁 +𝒎𝒄𝒕+𝟏 + 𝟏 − 𝜽𝜷 𝜽𝜷 𝟐𝑬𝒕 𝝁 +𝒎𝒄𝒕+𝟐 +⋯

=  𝜽𝜷𝑬𝒕𝒛𝒕+𝟏 + 𝟏 − 𝜽𝜷 𝝁 +𝒎𝒄𝒕



The aggregate price level in this economy is the weighted average of last period’s 

aggregate price level and the newly reset price:

𝒑𝒕 = 𝜽𝒑𝒕−𝟏 + (𝟏 − 𝜽)𝒛𝒕

and this could be rearranged to:

𝒛𝒕 =
𝟏

𝟏 − 𝜽
(𝒑𝒕 − 𝜽𝒑𝒕−𝟏)

𝒛𝒕 = 𝜽𝜷𝑬𝒕𝒛𝒕+𝟏 + 𝟏 − 𝜽𝜷 𝝁 +𝒎𝒄𝒕

𝟏

𝟏−𝜽
(𝒑𝒕 − 𝜽𝒑𝒕−𝟏)=

𝜽𝜷

𝟏−𝜽
𝑬𝒕𝒑𝒕+𝟏 − 𝜽𝒑𝒕 + 𝟏 − 𝜽𝜷 𝝁 +𝒎𝒄𝒕

Calvo (1983):  the New-Keynesian Phillips Curve



Calvo (1983):  NKPC



Households



The consumption Euler equation



Log-linearization



The Euler equation expressed in percentage terms



The Euler equation expressed in percentage terms (cont’d)



Fisher equation



Three equations NK model



Monetary policy rules



NK models for ECOM181



System of equations

(*)



Solution and simulation

(*)



Impulse response analysis



Another look at the transmission mechanism



The SVAR Model



The SVAR Model: shocks



Data and Estimation



Fisher equation in the data



Impulse response analysis: US



Impulse response analysis: JP



The current monetary policy?

Discussions of how monetary policy can lift an economy out of chronic below-

target inflation are almost always based on the logic of how transitory interest-

rate shocks affect real and nominal variables

Within this logic, a central bank trying to reflate a low-inflation economy will tend 

to set interest rates as low as possible. 



Committed to low interest rates?




